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Attack Strategies

SOLVE
Study the problem

Organize the information

Line up a plan

Verify the plan

Examine the answer

UPS Check
Understand

Plan

Solve

Check

R-CUBES
Read the problem

Circle key numbers

Underline the question

Box action words

Evaluate steps

Solve and check

WORD PROBLEMS
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Additive Word Problems

A.
Ali delivered 12 boxes of cookies on Friday and 25 
boxes of cookies on Saturday. How many boxes of 
cookies did Ali deliver?

B. 
In March and April, it rained a total of 11.4 
inches. If it rained 3.9 inches in March, how many 
inches did it rain in April?

C. 
Sam mows lawns and made $560 last week. She 
made $95 on Monday, $135 on Tuesday, and $70 on 
Wednesday. How much did Sam make on Thursday 
and Friday?

NOTES ABOUT TOTAL PROBLEMS:



Additive Word Problems

D. 
Audrey has 162 wooden beads and 95 glass beads. 
What is the difference between Audrey’s wooden 
beads and glass beads?

E.
Damian’s dog eats 9 1/2 cups of dog food each 
week. Monte’s dog eats 4 1/4 cups less each week 
than Damian’s dog. How much does Monte’s dog 
eat in a week?

F. 
The temperature in Norfolk was 12 degrees warmer 
than in Roanoke where the temperature was 79 
degrees. It was 86 degrees in Marion. What was the 
temperature in Norfolk?

NOTES ABOUT DIFFERENCE PROBLEMS: 



Additive Word Problems

G. 
A plant was 3 3/4 inches tall at the beginning of 
June. By the end of July, the plant was 9 1/8 
inches tall. How many inches did the plant grow 
in 2 months?

H.
Martina has some money in her bank account. 
Then, she spent $135.69 and has a balance of 
-$24.80. How much money did Martina have to 
begin with?

I. 
Hui saved $70 in January. In February, she spent 
$64 of the money she saved. She saved $92 more 
in March. How much has Hui saved by the end of 
March?

NOTES ABOUT CHANGE PROBLEMS:
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Multiplicative Word Problems

J.
Lola baked 6 pies. For each pie, Lola used 5 apples. 
How many apples did Lola use?

K.
Jane bought 112 light bulbs. The light bulbs come 
in packs of 4. How many packs of light bulbs did 
Jane buy?

L. 
Zachary has 3 feet of string. He makes braclets, 
and each bracelet needs 5 1/4 inches of string. How 
many bracelets could Zachary make?

NOTES ABOUT EQUAL GROUPS PROBLEMS:



Multiplicative Word Problems

M.
Enrique has 2 times as many pencils as Ava. Ava 
has 6 pencils. How many pencils does Enrique have?

N. 
Susan has 7 times as many books as Mo. Mo has 18 
books. How many books Susan has?

NOTES ABOUT COMPARISON PROBLEMS:



What are your strengths?

What are your opportunities for growth?

What are your plans for next Monday? 
Next month? 
Next year?

WORD PROBLEMS


